
SteelCasefl-eftSide Guardrail

tuwz c0l0,62
.Steel Case/Right Side Knob
llz/Jdnm3 C04063
Vent PilotlampRed
rrEH1000l c04()61
Binder Pilot Lamp Green
806254 C04065
P.C Board (not inldude IC) Pilot Lamp Yellow

llz.wL c0l02r
Steel Case/Base

HZ04m0H
.Steel Case/Cover

ra0d0n0l

Push Buttomflaze

c04046
Fan

c0/0.52

c0/{.J9�2
Fuse CI7A,/120V)
c05016
Cable & Plug (120V)
c05020
Cable For Rcmue Cmtol (V4 Stercol
c15HtO-I{El

c15H10-r{E2
CodrdOddSmfd5PiilXLR)
cr5Hl0-rIE3

D01003
P.C.B. Fastening Pin
D01004
M3*8L Screw
D0r0l7

D01028
M3*10L Screw

D01101
M4*8L Screw

D04r03
P.C.B Fastening

HC-I IJNTT

tilMz
Vapour Tank
lv-m-c
Air Compressor
H7-40{],-Cl

P.C.B Futening Scnw Collu hwlnlct Sodd & hnhldrt

I't1254U6
IC(optional)

s254U5
IC(optional)
BOX004
Controller Case
c00065

c00106
Triple Connector
c00107

c0100r
M4*8L Screw

c0l0r3
M4*8L Screw
c02001

co2u29
Tank's Cap
c02031
Foot

c02053
Handle
c02151

co2r54
ShockproofFoot

c02155
Tub€ (d8)

c04001

t{z4ffi-c

15H1GHE2

Coppr Connector For Punrp Ctrol hld S0&t 5Pin()(LR)
c00109 D0l/J22
Fhd Comer Connector hr lucrt Ring Bushing

c00109

co2t5l

HZ0/0nn'L

Magnetized Rubber Guardrail Pin

Pu Tube (18) Btack Wired Remote

0w
Rocker SwitclrPower Start Capacitor

c04005
htsh Buttom/Continuous

c04006
6

c15H

Antari LiShtine And Effects Ltd,

S.,,", 6
Y.
c02031

D01004,W

' o 80Fl2541h\'Wl "

Push Buttom/Timer

c05016c05020

x004

hp\ , ,  l lT4 l r t r  t r t , '  lA \ i /  l t l  B r  \11 \


